DSI 2011 (adapted from OCR Spec)
Section C
You must answer either Question 5 or Question 6
EITHER
5
(a) Study fig.10 which compares the world, LEDCs, and MEDCs.
(i) Compare LEDC Birth and death rates with those from an MEDC?
................................................................................................................................................
..........................................................................................................................................................................................................................................................................................[2]
(ii) Describe how a country changes as it goes through demographic transition.
...............................................................................................................................................
................................................................................................................................................
.........................................................................................................................................................................................................................................................................................,[3]

(b) Look at fig 11.  Suggest which stage of demographic transition each country is in, and explain why. 
1.……….....................................................................................................................................................................................................................................................................................
................................................................................................................................................
2..............................................................................................................................................
................................................................................................................................................
................................................................................................................................................ [4]
(c) What is migration? What affects might it have on the recipient country?
................................................................................................................................................
................................................................................................................................................
................................................................................................................................................................................................................................................................................................
................................................................................................................................................
............................................................................................................................................... [4]
(d) Describe and explain the problems with an aging population.
................................................................................................................................................
................................................................................................................................................
................................................................................................................................................
............................................................................................................................................... [4]


(e) Case Study – Population control.
Name a country which has undertaken population control.
................................................................................................................................................

Describe the measure that took place. How did they affect the country?
................................................................................................................................................
................................................................................................................................................
................................................................................................................................................
................................................................................................................................................
................................................................................................................................................
................................................................................................................................................
................................................................................................................................................
................................................................................................................................................
................................................................................................................................................
................................................................................................................................................
................................................................................................................................................
............................................................................................................................................... [8]
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OR
6 Study Fig. 12 in the Resource Booklet.
(a)
(i) Use evidence from Fig. 12 to describe counterurbanisation in the Vale of Glamorgan.
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
............................................................................................................................................. [3]
(ii) Suggest what has caused this movement of people
..........................................................................................................................................................................................................................................................................................
.............................................................................................................................................
........................................................................................................................................ [3]
(b) How might the area be affected?
..........................................................................................................................................................................................................................................................................................
.............................................................................................................................................
........................................................................................................................................ [3]
[3]

(c) Name and describe two different areas of a city.
1:..........................................................................................................................................
..........................................................................................................................................................................................................................................................................................
2:..........................................................................................................................................
............................................................................................................................................................................................................................................................................................ [4]

 (d) What can lead to the degradation of city centres?
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.................................................................................................................................................................................................................................................................................... [4]
(e) Case Study – Urban development
Name an area which has been sustainably developed.
.............................................................................................................................................
Describe how the area has been developed sustainably. To what extent was it successful?
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
.............................................................................................................................................
...............................................................................................................................................,……………………………………………………………………………………………[8] Section A Total [25]

